
 

 

CLASS  10   MATHS ASSIGNMENT         CHAPTER 13    SIMILARITY  Continuation---- 

General direction for the students :-Whatever be the notes provided , everything must be copied in the Maths Copy and 

then do the Home work in the same Copy. 

AREAS OF SIMILAR TRIANGLES 

THEOREM:  The ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding 

sides.  i.e  If ∆𝐴𝐵𝐶 ~ ∆𝑃𝑄𝑅   ⇒ 𝑎𝑟 ∆𝐴𝐵𝐶 ∶ 𝑎𝑟 ∆𝑃𝑄𝑅 =  𝐴𝐵2: 𝑃𝑄2 = 𝐴𝐶2: 𝑃𝑅2 = 𝐵𝐶2: 𝑄𝑅2  

RESULTS: 

1. The ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding Medians.  

2. The ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding Altitudes.   

3. The ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding Perimeters.  

4. The ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding Internal 

bisectors.   

MAPS AND MODELS 

Let the map is drawn with a scale factor k, then 

1. The length of the actual figure= 𝑘 × 𝑙𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 𝑡ℎ𝑒 𝑓𝑖𝑔𝑢𝑟𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑚𝑎𝑝. 

2. The Area of the actual figure= 𝑘2 × 𝐴𝑟𝑒𝑎  𝑜𝑓 𝑡ℎ𝑒 𝑓𝑖𝑔𝑢𝑟𝑒 𝑖𝑛 𝑡ℎ𝑒 𝑚𝑎𝑝. 

Let the Model is made with a scale factor k , then 

1. The length of the actual solid = 𝑘 × 𝑙𝑒𝑛𝑔𝑡ℎ 𝑜𝑓 𝑡ℎ𝑒 𝑀𝑜𝑑𝑒𝑙 . 

2. The Surface  Area of the actual solid= 𝑘2 × 𝑆𝑢𝑟𝑓𝑎𝑐𝑒 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑀𝑜𝑑𝑒𝑙. 

3. The Volume  of the actual solid = 𝑘3 × 𝑉𝑜𝑙𝑢𝑚𝑒  𝑜𝑓 𝑡ℎ𝑒 𝑀𝑜𝑑𝑒𝑙. 

Exercise 13.3 

3.  Given   ∆𝐴𝐵𝐶 ~ ∆𝐷𝐸𝐹   , BC=3 cm , EF=4 cm , ar ∆𝐴𝐵𝐶 = 54 𝑠𝑞 𝑐𝑚 

        ⇒  
𝑎𝑟 ∆𝐴𝐵𝐶

𝑎𝑟 ∆𝐷𝐸𝐹
=

𝐵𝐶2

𝐸𝐹2 

      ⇒ 
54

𝑎𝑟 ∆𝐷𝐸𝐹
=

9

16
 

      ⇒ 𝑎𝑟 ∆𝐷𝐸𝐹 = 96 𝑠𝑞. 𝑐𝑚  ans. 

10.  Given AP : PB= 2: 3 

       ∠𝑃𝐴𝑂 = ∠𝐵𝐴𝐶   𝑐𝑜𝑚𝑚𝑜𝑛 𝑎𝑛𝑔𝑙𝑒 



 

 

       ∠ABC=∠APO  Corresponding angle 

⇒ ∆𝐴𝑃𝑂~∆𝐴𝐵𝐶    (𝐴𝐴)  

⇒ 
𝑎𝑟 ∆𝐴𝑃𝑂

𝑎𝑟 ∆𝐴𝐵𝐶
=

𝐴𝑃2

𝐴𝐵2    ⇒  
𝑎𝑟 ∆𝐴𝑃𝑂

𝑎𝑟 ∆𝐴𝐵𝐶
=

4

25
   ans. 

Consider ∆𝐴𝑃𝑂  𝑎𝑛𝑑  ∆𝑄𝑂𝐶     

           ∠𝑃𝐴𝑂 = ∠𝑂𝐶𝑄   ( 𝐴𝑙𝑡𝑒𝑟𝑛𝑎𝑡𝑒 𝑎𝑛𝑔𝑙𝑒)    

           ∠𝑃𝑂𝐴 = ∠𝐶𝑂𝑄   ( V.O.A) 

         ⇒ ∆𝐴𝑃𝑂~∆𝐶𝑄𝑂    (𝐴𝐴)  

⇒ 
𝑎𝑟 ∆𝐴𝑃𝑂

𝑎𝑟 ∆𝐶𝑄𝑂
=

𝐴𝑂2

𝐶𝑂2    ⇒  
𝑎𝑟 ∆𝐴𝑃𝑂

𝑎𝑟 ∆𝐶𝑄𝑂
=

𝐴𝑃2

𝑃𝐵2    (BPT) 

  ⇒ 
𝑎𝑟 ∆𝐴𝑃𝑂

𝑎𝑟 ∆𝐶𝑄𝑂
=

22

32     ⇒ 4: 9   𝑎𝑛𝑠. 

*** For further explanation of above points and more solutions refer the video. 

Home work : Questions from the exercise upto question number 11. 

 

 


